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1. Answer in brief the following questions : 1x7=7

(a) Mention one objective of developmental
psychology.

(b) At what time the weight of the infant
increases most?

() Who has referred adolescence as a
period of ‘storm and stress’?

| (d) What is gang loyalty?

e/ What is the first mode - of
communication during the earliest part
of infancy?

Al6/370 ( Turn Over )



(f) Write the name of the first institution

(g)

(2)

that trains children for group life.

What is meant by prenatal period?

2. Answer the following questions :
(@) What is wunderstood by the term
‘emotional control’ during childhood?
(b) Why is the stage of adolescence called
an ‘age of transition’?
() Give one definition of adjustment.
(d) What are the main emotions during the

stage of infancy according to Watson?

3. Write on any three of the following in brief : .
5x3=1%

(@)

(b)

(c)

(@)

(e)
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Describe two methods of studying
developmental process in a child.

Explain briefly the role of school in
socializing a child.

Write about the precautions to be taken
during parental stage.

Explain the
children.

sense of curiosity in

Write a short note on social adjustment.
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Answer the following :

(@)

(b)

(c)
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Define developmental  psychology.
Explain the factors that influence the
developmental process. 5+5=10

Or

What do you understand by growth and

development? Bring out clearly the

difference between these two terms.
5+5=10

“Infancy is the most formative period of
life.” Elucidate the statement by
mentioning its chief characteristics. 10

Or

Trace the emotional development of
child from birth to adolescence. 10

Who are  juvenile delinquents?
Enumerate the causes and remedies of
delinquency. 2+4+4=10

Or

What is meant by personality? What are
the various factors which determine
personality? Explain. 5+5=10
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